HON\QVWk 1] so é/" ond

N
N’

| ERANTISTR
fe = Ot - ISk + ¢ b L20 rs 20450,

D (= (10b+20) 2+ [S0-15H) ¢ /

P W e e N N

N, - -S4 +3>OJ'L
(L - nCM+3OPj‘+( ok O r: 903*/0:i
5 (A0 -5H)d 4 (30k+ 10y

Cr, = [(louao),u(s’l)—lﬂ)ﬂ-f(ﬁO—Sé)L ¢ (304+:o)ﬁ
(re = (IC% -‘10)2 1 (l«O, LS h] y

IC [/0”] de flen ey, = O [’Pel"}".“ hishaate gc"“% Cor ol 101/7 :0]
15t =710 =0 Lo-4st =0

E}_‘ ; 7?/'{ éZ =z QD/QY
H fjrl 5o don't wellide /

b) (Cr): - (lfé—7o)‘+(40-"§k)?‘/
_ 226F- 210044 4900+ 1600- 36006+ 2075F"
=250~ 5700k + 6500
cl(Cle)
~ 1. ksoot -S700

Sl ()
a0



Lsoot- 5700 =0 (2)
bo121 |

(C{L)l JZ@CIU /
=>(CQ):§5;5 = 53-8 km

Z V&«#cap J';O-\
0) S V= vt Lo /

W '/% >
v=0 = 8°-2xa8s
o=--18& ¢ . 3:27m /
§;_7 —_—

l) Mwﬂ m«xl'iu.\ "
W =8 NV
v -0 0-‘—8’01‘9(“
aP ;’W F=0 81bny

l?)lwo LNQ = ZX 08|/ d;‘f/’"‘“ :va;u,.\u S('CJK/';MG
sl 6320 = |Ox 163
= “-3m

_”——



Z) XJ‘.A\j‘.f/iji = 2 \/

Cl? 4 A};’ oo X +j. -5 X = O

I'S‘\an-f xX. (/of‘-j (:’; ! P

| - b
$'/~J+ “XL«O)”\j g;—[d— W sHC ;1 - jJ-.\x =

(XUDIJ + wh()jﬁz - js’],\)( -s&«a
Ig"nD‘FjWJL:Z /

o a‘ x =0 =7 j:Z

()( Wr?] + I/°J‘)(> In ‘j"“"( '5:";)

W"‘ 7(:0 :7 l _;-—5«/\2 /

J1

po'zl fsl‘d}a dvvan s0

®

¢ D
l Q /'z,.:?. =~
0) .\ I_’?:;_,_« /[)Z s oclla \ILP/
._/0_(/9_ —— F {/Uﬂ M(7$' = /7 j R &
N\J F {'/UMa w@ - m(ljjw

po= 200t ()

'V\JWI(,Q
oz 0277 /

)




b)

oo W
L





